Two-intercepts Form

Name

Score
TI:13
4 N
Express each equation in two-intercept form.
1) 3y=6-X 2) 5(x-2) =25+ 3y
3) y=-2x+38 4) -Xx=6y+6
5) Xx-y+8=-6+y+ 2x 6) -y=-x+3
7) 12y + 8 =24 8 4+y=5-x
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Two-intercepts Form

Name

Score
Answer key
TI:13
\
Express each equation in two-intercept form.
1) 3y=6-X 2) -5(x-2) =25+ 3y
6 21 373
3) y=-2x+38 4) -Xx=6y+6
X, Y _ X+ X
atg=] e
5) XxX-y+8=-6+y+ 2x 6) -y=-x+3
X Ly _ X+ X -
2t7 =7 3733
7) 12y + 8 =24 8 4+y=5-x
X l: i+l=1
3t =] 17
J

www.mathfunworksheets.com



